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PART A

Answer all questions. Each carnesone'mar&.

(6x1=6)

it R B

Answer any six questtons Each c' , b L B Ty
7. Find the sum of-Ti" terms ofan A.P. whose 7" tefm is 30 and 13t term is 54.
8. Explain the merits’ and demmts of census method
9. Explain the desirable properties oT a gocd easure of variation.

10. Solve the equation 2x%+8x +8=0.

11. Distinguish super set and proper subset.

12. Find the equilibrium price and quantity.

S=20+3pandD=160-2p (pisthe price).

Find the quartile deviation for the following values :

28 32, 25, 42, 55, 82, 10, 25, 40, 38, 39

Bring out the difference between mean deviation and standard dewatlon( —
6x2=

P.T.O.

13.

14.
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PART - C

Answer any four questions. Each carries 3 marks.
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15. Define a histogram. Represent the following data in a histogram.

Marks 10-15{ 15— 20| 20-25| 25-30| 30-35
No. of Students 10 25 50 40 15
16. What is simple random sampling ? Explain its merits and demerits.
17. Solve :
4X + 3y =2x+7
3x =3y +2x—1
18. What is Lorenz curve ? WHat are its uses B
19. Find the median from the followmg data .
Wage CAG s, 45 50 452 | 58 60
No. of Workers 3 [=:42 A::f':;:-;ZG 115 10 8
20. Distinguish cost function and}éﬁrehﬁé function.. (4x3=12)
Answer any two questions. Eac carnesSma s
21. Calculate mean for the fo!lowmg data.
Age 0-10 |10 =20 {20 — 39 30~ 40 40-50{50—60|60-70]70-80
No. of 152} 80~} 58, 75 .4.6108 . 136" | 115 | 125
Persons o 51

22. What is skewness ? What are its méaéures ?

23. What are the measures of dispersion ? Distinguish between absolute and relative
measures of dispersion.

24. Solve 7x—-4y—-20z=0

10x — 13y —14z = 0

3x +4y—9z = 11

(2)(5:1 0)



